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6/10KV CV, TFR-CV, HF-CO (IEC 60502-2 7= 3.6/6kV~18/30kV)
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0.6/1KV CV, TFR-CV, HF-CO, TFR-8, NFR-8, TFR-3, NFR-3, HFCCO(S, SB)2| 12X &7
- M2k 190°C
- T2k 1715 30°C. X|F 20°C el A

240 424 380 386 346 528 450 459 398 599 500 395 324 448 375
300 486 435 442 396 603 514 532 455 693 576 446 365 502 419

B 27l ROt 2|2 7Y, 34 37 RO H|Z ol 2 Y
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400 - - 940 823 868 1085 1008
500 = = 1083 946 998 1253 1169
630 - - 1254 1088 1151 1454 1362

Ehef 127l FOHERIR 9|2 7, 34 37 FIHHIZ 0|2 1Y
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70 151 136 139 125 192 171 168 149 213 184 173 143 192 162

95 182 164 167 150 232 207 201 179 258 223 204 169 230 193
120 210 188 192 172 269 239 232 206 299 259 231 192 261 220
150 240 216 219 196 300 262 258 225 344 299 261 217 293 246
185 273 245 248 223 341 296 294 255 392 341 292 243 331 278
240 321 286 291 261 400 346 344 297 461 403 336 280 382 320
300 367 328 334 298 458 394 394 339 530 464 379 316 427 359
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16 94 80 = = = = =
25 119 101 131 110 114 146 130
35 148 126 162 137 143 181 162
50 180 153 196 167 174 219 197
70 232 196 251 216 225 281 254
95 282 238 304 264 275 341 311
120 328 276 352 308 321 396 362
150 379 319 406 356 372 456 419
185 434 364 463 409 427 521 480
240 514 430 546 485 507 615 459
300 593 497 629 561 587 709 659
400 - - 754 656 689 852 795
500 = = 868 749 789 982 920
630 - - 1005 855 905 1138 1070

Eh 1 271 RSIER| 2 0|2 71, 34 1 37 ROt=R|2 8|2 7Y
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95 241 216 306 269
120 278 249 354 312
150 318 285 - -
185 362 324 = =
240 424 380 - -
300 486 435 = =
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H| oK JhmE2| AN HI O JhmE 2| LA AN

10 122 115 11 1.07
15 117 112 1.05 1.04
20 112 1.08 1 1

25 1.06 1.04 0.95 0.96
30 1 1 0.89 0.93
35 0.94 0.96 0.84 0.89
40 0.87 0.91 0.77 0.85
45 0.79 0.87 0.71 0.8
50 0.71 0.82 0.63 0.76
55 0.61 0.76 0.55 0.71
60 0.5 0.711 0.45 0.65
65 - 0.65 - 0.6
70 - 0.58 - 0.53
75 - 0.5 - 0.46
80 - 041 - 0.38

B HIVE| Z2 Tt ZE2(of 2l ZEM el 2A S HE

- X0 Mol EQF HXSHE0| CHet S| EXF B Al
EXSE K.m/W 0.5 0.7 1 1.5 2 25 3
2 A+ (HE) 1.28 1.20 1.18 11 1.05 1 0.96
2 A4 (o) 1.88 1.62 15 1.28 112 1 1.90

7|1Z0|Lt HEHoj| FAHLEOHM == | 100 | 080 | 0.70 | 065 | 060 | 057 | 0.54 | 052 @ 050 | 045 | 041 | 0.38

g = URY Efoje HYE 100 | 085 | 079 | 075 | 073 | 0.72 | 0.72 | 0.71 | 0.70
EJ(H HyH OPEHOH AP oot HdE | 095 | 081 | 0.72 | 068 | 0.66 | 0.64 | 0.63 | 062 | 0.61 - - -
2| 4 = X E 0|9 EHUE | 100 | 088 082 | 077 | 075 | 073 | 0.73 | 0.72 | 0.72 S S S

AtCHe| X|X|cH EF_.': Sf|E9 tHE 100 | 087 | 082 | 080 | 080 | 079 | 079 | 0.78 | 0.78 - - -

- XS0l ZH AlAst £50] A|0|20 Cist 518M 7 HEAI(TH E= CH AI0|2)

2 0.75 0.80 0.85 0.90 0.90
3 0.65 0.70 0.75 0.80 0.85
4 0.60 0.60 0.70 0.75 0.80
5 0.55 0.55 0.65 0.70 0.80
6 0.50 0.55 0.60 0.70 0.80
7 0.45 0.51 0.59 0.67 0.76
8 0.43 0.48 0.57 0.65 0.75
9 0.41 0.46 0.55 0.63 0.74
12 0.36 0.42 0.51 0.59 0.711
16 0.32 0.38 0.47 0.56 0.68
20 0.29 0.35 0.44 0.53 0.66
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